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QUESTION 1

When performing a consistent mode change from SRDF/A to SRDF/S, how many cycles does this process take? 

A. After two cycle switches 

B. After one cycle switch 

C. Immediately 

D. After the cycle time expires 

Correct Answer: A 

 

QUESTION 2

Using SRDF/S, In Enginuity 5772 and later, How many concurrent writes can a device receive? 

A. 6 

B. 16 

C. 2 

D. 8 

Correct Answer: D 

 

QUESTION 3

You have been working with a customer on a new SRDF/A design and need to validate the configuration using
Symmetrix data. Which tool do you use? 

A. SymmMerge 

B. Tier Advisor 

C. E-lab Advisor 

D. Analyzer Helper 

Correct Answer: A 

 

QUESTION 4

You have used BCSD to model an SRDF/S solution. What information can be obtained from the model? 

A. Bandwidth requirement, RA utilization, and volume exceptions 
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B. RA utilization, DA and cache utilization, and host service time 

C. Cache utilization, RA utilization, and potential problem volumes 

D. Bandwidth requirement, RA utilization, and network latency 

Correct Answer: A 

 

QUESTION 5

When does the ACOFW behavior apply in a TimeFinder/Snap environment? 

A. Writes to protected tracks on the source device 

B. Writes to protected tracks on the virtual device 

C. All writes to the source device 

D. All writes to the virtual device 

Correct Answer: A 
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